GCSE Fine Grading BTEC Fine Grading
Grade |Description Grade |Description
9+ |Very Confident 9 D*+ |Very Confident Distinction*
9= |Confident 9 D*= |Confident Distinction*
9- [Marginal 9 D*- |Marginal Distinction*
8+ |Very Confident 8, pushing a 9 D+ |Very Confident Distinction, pushing a D*
8= [Confident 8 D= |Confident Distinction
8- |Marginal 8 D- [Marginal Distinction
7+ |Very Confident 7, pushing an 8 M+ |Very Confident Merit, pushing a D
7= |Confident 7 M= [Confident Merit
7- |Marginal 7 M- |Marginal Merit
6+ |Very Confident 6, pushing a 7 P+ |Very Confident Pass, pushing an M
6= [Confident 6 P=[Confident Pass
6- |Marginal 6 P- |Marginal Pass
5+ [Very Confident 5, pushing a 6 L1P+ [Very Confident Level 1 Pass, pushing a P
5= |Confident 5 L1P= [Confident Level 1 Pass
5-  [Marginal 5 L1P- |Marginal Level 1 Pass
4+ ([Very Confident 4, pushing a 5 U |Fail
4= |Confident 4
4-  [Marginal 4 CamNat/OCR Fine Grading
3+ [Very Confident 3, pushing a 4 Grade |Description
3= [Confident 3 L2D*+ |Very Confident Level 2 Distinction*
3-  |Marginal 3 L2D*= [Confident Level 2 Distinction*
2+ [Very Confident 2, pushing an 3 L2D*- |Marginal Level 2 Distinction*
2= [Confident 2 L2D+ |Very Confident Level 2 Distinction, pushing an L2D*
2-  [Marginal 2 L2D= |Confident Level 2 Distinction
1+ |Very Confident 1, pushing a 2 L2D- |Marginal Level 2 Distinction
1= |Confident 1 L2M+ [Very Confident Level 2 Merit, pushing an L2D
1- |Marginal 1 L2M= (Confident Level 2 Merit
U |Fail L2M- [Marginal Level 2 Merit
L2P+ [Very Confident Level 2 Pass, pushing an L2M
L2P= [Confident Level 2 Pass
L2P- |Marginal Level 2 Pass
L1D+ |Very Confident Level 1 Distinction, pushing an L2P
L1D= [Confident Level 1 Distinction
L1D- |Marginal Level 1 Distinction
L1M+ |Very Confident Level 1 Merit, pushing a D
L1M= [Confident Level 1 Merit
L1M- |Marginal Level 1 Merit
L1P+ [Very Confident Level 1 Pass, pushing an M
L1P= |Confident Level 1 Pass
L1P- [Marginal Level 1 Pass

Fail




